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5375 |/\wiR SK75SR-3E WER=E 0.28 m3 THEBE= 0.21 m3 [INILOEREFEER)
5376 |/\vHk™ SK130SR+-3 WiEs= 0.45 m3 TERE 0.35 m3 [N )LOEREEER)
5377 |/\vHR™Y SK135SRD-3 WiER=E 0.50 m3 THEEE 0.38 m3 | )LaE#GE)
5378 [/\wHEk™Y SK135SR-3F WiEE=E 0.50 m3 TEB=E 0.38 m3 |aNJLaEEGE)
5379 |/\wHRY SK165SR-3F W= 0.50 m3 THEEE 0.38 m3 | )LaE#GE)
5380 |/\vH7R™H SK200H-9A LWiEE= 0.80 m3 TEE=E 0.59 m3 |aNJLaEEGE)
5381 |/\wH7R™Y SH220HBL-6 WiER=E 0.98 m3 THEE=E 0.69 m3  |{ERERGR)
5382 |m—KFpo—5— HM125H-3 ElmiE=s 10.1 t EREREEER)
5383 | FRI7ILET14=yi v+— |HA90C-2 S 28~90 m FERER (B
5384 [FRI7ILED74=v>¥— |HAS0W-8 £ 2.3~50 m ERER ()
5385 |[FRI7ILEI4=vr— |F50W4 ELE 2.3~5.0 m &1 Z I (ER)
5386 | FRI7ILETI4=vi— [SUPER 2100-3i £ 255~95 m AT =D\ (E)
5387 |bowHOL—Y LTM1100NX 99 tHR 3 m [)V=FA)L-Tv/ 2 Fk)
5388 |[FSwHHL—Y AC500-2 228 tH 7 m  [IHIE )
5389 |mEAXMEASFH F101GAE 1 =Y FEU200J3) 800 kN 900 kN (R B S4ERR
5390 [HREKXMEASH F111Gh/E 1=y FEU300I3) 800 kN 900 kN [#R) B RS ERR
5391 [ —thyE— K-40S 305~965 cm VS EEN
5392 [ H)—khyE— K-40TS 305~965 cm #7144
5393 [ Hl)—b+HyR— K-80TS 305~177.8 cm FR)I514 L
5394 [ H1)—khyE— RDFS-30 36.0~784 cm BHA AV ECRITEGR
5395 |ZERIEHE DIS-200VPS-D 21.2 m3/min 1.27 MPa |T>3—#%)
5396 | HBFETEEE DCA-125LSIE 125 kVA T2 3—#k)
5397 |HEHREH NES25TK 25 kVA EEETTETRECED)
5398 |HBFETEE NES25TKL 25 kVA HARERELE#R)
5399 |HEHREH NES60TK 60 kVA EEETTETRHCED)
5400 |HBFETEE NES60TKL 60 kVA EEET TEFEHCTD)
5401 [H%EHHEHE EF900FW(50HZ {1 %) 0.70 kVA VRNE—B—RT—T O 5 (1)
5402 |HBhFKEH EF900FW(60Hz{t#k) 0.85 kVA NRNE—B—T—TOR 7Y (F)
5403 |HBFTHE EF6000TE(50HZ{H4%) 5.0 kVA YRNE—B—RT—T O 5 ()
5404 |[HBhFEEH EF6000TE(60Hz4E%k) 6.0 kVA NRNE—B—"T—TOR 7Y (F)
5405 |RMEAXMEASIIRHE NEO100 GlE 1= ~TE-200C3) 1,000 kN 5| 1,100 kN _[(8)a—2>
5406 [RERMEATIIREE NEO400 o (;#i[E1="vTE-200C3) 800 kN Gk 900 kN |(#)a—7>
5407  |mEAXMEASFH NEO900 GGf/E 1 =Y +TE-200C3) 1,000 kN 5|1 1,100 kN [(R)a—7>
5408 [REXMIEASIHRHE NEO100W (/£ 1= FTE-200C3) 1,000 kN g 1,100 kN |(#)a—7>
5409 HEXFIEASI PZ-1200 (/£ 1=v,TE-200C3) 1,500 kN g 1,600 kN |(#R)a—7J >
5410 [REKXMIEASIHRHE PZ-1500 Gl E 1= FTE-200C3) 2,000 kN 5 2,100 kN [(#)a—7>
5411 mMEAMEASIIRHE WP-150P (i1 [£ 1=y FTE-200C3) 900 kN 3 1,000 kN [(#&)a—7>
5412  |/3wHRy ZX17U-5A 0.044 m3 R 0.025 m3 | BICE# (%)
5413 |/\vHER™ ZX400R-5B 15 m3 b3 1.1 m3 [BIrE# (%)
5414 |[O—Fo—5— ZC125M-5 10.1 t HILEEGR)
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5415 |HBhFKEH EG2800MP-EB ERE=E 2.8 kVA (B) DPFEUC
5416 | HBHFRTH EG2800MP-EA ERB=E 2.4 kVA (%) PFUC
5417 |[FA—IAr—2 0 PEBIM  |KB-1500R T =AIEEIE 15 m (%) mnE 2 e
5418 |/\vyH7R™Y HD308US-6 WiER=E 0.28 m3 THEBE= 0.22 m3 | (BR) Mo 24ERT
5419 | Z=ERIEHaRL PDS185S-7C5 HHE 52  m3/min £H 0.7 MPa |Jb#% T 3 (3%)
5420 |ZERIEHEt PDS185SC-7C5 = 52  m3/min £A 0.7 MPa |Jbik T 2 (%k)
5421  |ZERIEHEt PDSG750S-4C5 HHE 21.2  m3/min [E] 1.4 MPa |Jbi#% T 3 (3%)
5422 | ZERIEHE PDSG750SD-4C5 = 212  m3/min £A 1.4 MPa |Jbi& T 2 (%k)
5423 [/\wHER™Y AX17u-6A LWiEE= 0.044 m3 TES=E 0.025 m3 |Jb#E T 2 (#k)
5424 |/\vHiRY PC138US-10NM W= 0.50 m3 THEE=E 0.39 m3 [ (Bk) /MAEMERT
5425 |7\ PC2001-10 WiEE=E 0.8 m3 TEE=E 0.6 m3 | (BR) /IABLERR
5426 |/\vHRY PC200LCI-10 WA= 0.8 m3 THEEE 0.6 m3 | (BR) /A BLYERR
5427 |/\yH7RYH PC220-11 WiEE= 1.0 m3 TEE=E 0.76 m3 | (BR) /IABLERR
5428 |/\vHiR™ PC220LC-11 WiER=E 1.0 m3 THEBE= 0.76 m3 [ (Bk) /MAEMERT
5429 |/\vyH7R™H PC230-11 WEE=E 1.0 m3 TEE=E 0.76 m3 | (BR) /A BLERR
5430 |/\vHiRY PC230LC-11 WiER= 1.0 m3 THEBE= 0.76 m3 [ (Bk) /MAEMERT
5431 [/\yH7R™H PC400-11 WEE=E 1.9 m3 EES=E 1.4 m3 [ (#k) /MAEMERR
5432 |/\vHiRY PC400LC-11 W= 1.9 m3 THEBE= 14 m3 [ (Bk) /MAEERT
5433 [/\yH7RYH PC450—11 LWEE=E 1.9 m3 TEE=E 1.4 m3 | (BR) /IABLERR
5434 [/\vHRY PC450LC—11 W= 1.9 m3 THEBE= 14 m3 | (&R /M EMERR
5435 |F5945—2an)L WA200-7 W= 2.0 m3 THEBE=E 1.7 m3 [ (#k) /MAEMERR




